Name: K 0 J

_ '_} Class: ! l e ? Date:

Math III Practice 1Qt

Directions: Do not use a calculator on the problems that specify calculator usage is not allowed.
N.RN.3: *No Calcnlators

1. Given: ){)Vl&w &
« jand / are nonzer r umbers.

e kandm ar umbers. AaN 't be 7, ﬂy‘ﬂ,cﬁ’jmu 'LJ/ -
Which statement is always tre? _ g
/A/‘ The result of j +/ is an irrational number because the sum of any two rational numbers is
irrational.
. The result of k+ m is a rational number because the sum of any two irrational numbers is

- ““Yational.
@ he result of j + I is a rational number because the sum of any two rational numbers is

rational.
D. The result of £+ m is an irrational number because the sum of any two irrational numbers
is irrational.
N.CN.2: *No Calculators o .3 '}L
2. Which expression is equivalent to 3(1 + 4i)(1 + 2{)? .
3 + 181 + 2402 (3ipi)iral) G 34 R
_ . i D. 94 42i R .
) B. }21+ 18 | 21 20 \au?
A.SSE.4: | 2 +idi- 2

3, The Sanchez family wants to go on a vacation in August, and they begin saving in December.
The Sanchez family expects the vacation to cost $1,700. Each month they will deposit 5% more
than the previous month. In December, they. deposit $100. How much will the Sanchez family

have saved for their vacation after 9 months? b- 100 M-197.0%
$147.75 | C. $2,864.73 N-i05 T3y
®$1,102.66 D. $6,000.00 - ”Og{ :r 14b i
| %1.05 Mg T
g Hos AAPR.2: *No Calculators Yb K-12] gr,’ A - M'_—I )
& S L g% 4. The equation of the volume of a rectangular prism, in cubic inches, is shown below.
LA ”(5" ’ The height of the prism is x + 1 inches. Which expression, in inches, could represent the length of
\\ O this prism?
Q}D CLY A x— 2 because V(2) = 0 C. x - 6 bocause V(0) = —6
\&’; B. x —3because V(-3) =0 D. x+ 1because V(1) = —8
5. Givemthat p(—3) = 0,p(~1) = 0, and p(5) = 0, which expression could be p(x)?

x3 —x%2 —17x—15 C. x3-3x*-x+5

B x*-—x%-17x+15 D. x*—9x* +23z-15
OS>
(X7 +o)x-5) A =X -6 |
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A.APR.3: *No Calculators. @ JTJIJXJL lie “'LP
6. Which graph best represents the function f(x) = (x — 3)}2(x + 4)
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A.APR.6: *No Calculators

. . 4x2 +8x+12
7. Which expression is equal to ———

2x
A 2x 4t ™ C. 2x+-22

6
2x 1 F ;@ 2x+4
C];?/wzx+4+;—2 X 4+® D. 12 4+%2
X b X
s
A.CED.3:

8. A painter has exactly 64 pints of yellow paint and 80 pints of green pzii_nt. He plans to mix them
to make color A and color B to paint the walls of a living room. He uses 3 pints of yellow paint
and 5 pints of green paint to make one gallon of color A and 4 pints of yellow paint and 4 pints of

green paint to make one gallon of color B.
h=vy gb=
Find the maximum number of gallons he can mix. ? 8
A. Zero of Color A and 16 of Color B -
B. 16 of Color A and Zero of Color B ;’594"5 L&

2. 10 of Color A and 8 of Color B ) Y
of Color A and 10 of Color B "ha. t 4?» 1B
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A.REL2: *No Calculators

9, Inthe equation ¥6x — 2 — 7 = -3, which of the following is true about the x value?

A x= 5 D. x is not areal number

+17
e e L
. T

- = J{ =
A.REL4.A: U-7 =16 Y -7=~3
10. What number should be added to both sides of the equation below in order to complete the

square? :

x%+10x =3 10 _/e\?
A S “3’ - (5) : - L2
B. 9 D. 100

. AREL4.B: ' 1 -~ nes. Aiscrf:wmd" .

11. What values of @ result in the equation ax? — 12x — 3 = 6 having complex solutithis? bg-'_ q, ac

< -12 —l T a>4 . -
(e L R ED

AREL11: X 15 /= =3
12. Two functions are shown below. '2)(--’1 = {l/él) - J = <4k
fx)=2x-7 . _ :
1\ : : P+ <0
glx) = (E) _
What is the approximate value of x when f(x) = g(x)?
A 298 C, 538
B. 4.12 . 354 \
F.IF.B.4: | :

13, Whigh-ofthe following functiens is symmetric with respect to the y-axis?

x)=4—x2 CC f)=x—1
. f(x) =x3+5x ] D. f(x)=—-Inx

14. The figure shows the graph of T , the temperature (in degrees Fahrenheit) over one particular 20-
hour period in Santa Elena as a function of time t.

¥
100 —t-od

bbb e 7 B0

»J

o

50

8 Wik 16 ! _ _
If Anya wants to go for a two-hour hike and refurn before the temperature goes over 80 degrees,

whemshould she leave?
A. /Before 8 am \b‘ Between 10 am and 12 pm

. Between 8 am and 10 am \b\ Between 10 am and 8 pm
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E.BF.3: *No calculators

15. The fimetion f{x) = x% is changed to flx) = —2x - 7 What effect will this have on the graph
of the function? _

M. The graph will be reflected in the y-axis, shifted up 2 units and vertically stretched by a
factor of 7.

B The graph will be reflected in the x-axis, shifted up 7 units and vertlcal]y stretched by a
factor of 2.

C. The graph will be reflected in the x-axis, shifted down 7 units and vertically stretched by
a factor of 2. '

D. The graph will be reflected in the y-axis, shifted down 2 units and vertically stretched by
a factor of 7.

' - fek
16. Which staternent is true for the function f(x) = —1@+ 455 ’
){ f(x) is an even function and has end behavior such that as x — oo, f{x) - ¢ and as

- —00, f(x) - o0
@ {(x) is an odd function and hes end behavior such that as x — o, f(x) - —o0 and as
x = =, f(x) - oo, _
C. f(x) is an odd function and has end behavior such that as x = o, f(x) = c and as
x—= —m,f(x) - Co,
~ f(x) is an even function and has end behavior such that as x — o, f(x) - —oo and as -
x = —o0, f(x} = —o.

F.BF4.A: . =YL
17. Which expression represents the inverse of f| % =8* +13? %X E) +14

A. ;—‘—13 . log8* + 13 .x_ra:g?r
: D-Jogg(x — 13) S VA =
B, 81113 é i ‘0_98)(. & ‘3

18. Which statement represents the inverse of f f% =x3-77

A fx)= 7 x8 DAOFI) =3 ¥7
B. f7(x) = - %)6’«7 |
C. FfFi=3¥x+7 ,x:{,/};@'g

F.LE.3: *No calculators ' ” Xt ‘ff"’a'

19. George is comparing the graphs of two functions f(x) = 3* and g(x) = 25x2 + 49x + 100 for
d1fferent values of x. Which statement best compares the values of the functions as the value of x

f (x) will eventnally exceed g(x) for all real numbers greater than a certain x-value,
B. g{x) will eventually exceed f(x) for all real numbers greater than a certain x-value.
C. f(x) is greater than g(x) for all values of x.
D

. g(x) is greater than f(x) for all values of x. 4;10‘1 MUJ
et ?
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F.TE.I: —
20. A circular clock has a minute hand that rotates from the center of the clock. This distaric2 from

the point on the minute hand from where it rotates to its end @nﬂm\tbrs (cm). How far does

the end of the minute hand move in 10 minutes?
49T em — C. 24w cm

T
B. 8w cm C48mem MU = {1’0 )

8 K &0,,', ug@ | D. 4 ﬂg\, 9190 Mly

E.TF.2: '

21. The figure below represents a unit circle.

| o
@ b4 i 4!“@"%@ Amg'%ﬁﬁ
B ey WO

Which statement best represents the relatlonshlp between Angles s and t?
The angles are equal. _ /ﬁ"} ' /)JT‘?’J
a he angles have equal sines. '
. The angles have equal cosines.
D. The angles are opposite of each other.

F.TF.5:
22. A transmitter sends a radio wave from the top of a 70- foot building. The amplitude of the wave is

1.5, the midline of the wave is 4, and the frequency of the wave is #.Which equatlon best
reprcsents this radio wave?

. ¥ = 15sin(2x) 521/ y = 2sin(1.5x) + 4
By =15 sin(2x) + 4 B. y=2sin(4x) +15

70
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G.CO.10: .
23. Manuel is trying to prove the following theorem. If two sides of a triangle are congruent, then the

angles opposite these sides are congruent. First Manuel draws isosceles APGR and then he adds

an auxiliary line that bisects ZPQR.

ol 3 i

An incorhplete version of Manuel’s proof is shown below.
Froof

1.PR=RG. | 1. wiven

2. mePRS w ma HOS | 2 T8 visevts £PAA. |

9.08=08 |8 Rofiexive Proparty

B EaPesORs |

What should be the statement for Step 4 of Manuel’s proof?
A. ZPQR is aright angle C. £P5Q = £RSQ
PQS = ARQS D. PS=3R

G.CO.11:
24. Clarissa is writing a proof to show that the diagonals of a parallelogram bisect each other. She is

using the figure below.
A

A
i a
ich of the following statements shouldq;:e used in Clatissa® of?
LDEC = /BEA C, AE =EC

. AE + ED = BE + EC
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G.SRT.5:
25. To measure d, the distance across a lake, Jeremy constructed similar, right triangles as shown it

the diagram.
}t—-—-a'iﬁ yards—-‘-#]

'ln-—— 180 yanss-—-l

Which value is closest to the distance, in yards, across the lgke?——._
A. 410 ' C. 29
B. 167 120

26. Point D is the midpoint of AR, and Point E is the midpoint of BC.
B 2 T ____C

A}Jiwls’eémd'"

A

What is the length of AC
A 4 C. 6
B. 5 -

G.C.5:
27. Hilda wants to know the number of people attending a play. The diagram below shows all the
seating sections af the play. Hilda determines that there are about 150 people sitting in one section
represented as the shaded portion in the diagram.

n°

If ali the seatmg area is full, which is closest to the total number of people attending the play?
A. 450 people 750 people
B. 600 people 6 D00 people
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28. The drawing,helow shows circle B and circle E. The mAC = mDF, and the length of AT is 3

Bxﬁmplﬂ- (-PIM )

Which equation best describes the reIaonship between BC and EF?

A ﬁzﬁ C. BC =6(EF)
c_= 3(EF) D. BC = 9(EF)

GGPEL: -~
29. What is the equation in standard form of the circle represented ( +y 61 0x — 6y =237

Y A (x+5)2+(y+3)% =23 (x— 52 Ty ~3)% = 23
7.\ B. (x—10)% + (y — 6)% = 23 @x—5)2+(y—3)2=57
o
30. The equation shown below represents a circle. Which statement describes the key features of the
clrcle that cen be dete ¢ equation?
x+y —Zy@ﬁ:mﬁ Y5 | 4 9
@) he circle has&Tenter at (-5, 1) and a radius of 2 vnits. D
B The circle has a center at (5, -1) and a radius of 2 units. _ ,}( /| ) 7 p
\ \)( C. The circle has a center at (-5, 1) and a radius of 4 units. Lq{ -~
D. The circle has a center at (5, -1) and a radius of 4 units. a
G.MG.3:
31. Amy drew a design consisting of 15 congruent circles surrounded by an equilateral triangle as
shgwn below.

lOr"'ﬁ \\ |ﬂ-:_ D Jeast Hr's
.\_ _

'-The sndes of the mangle are tangent to each gf the 12 outer circles. Each circle is tangent to every
adjacent circle. Which exgrgsswn is equal to the perimeter of the triangle in terms of r, the radius

of edch circle? s )
T (124 2V3)r ) _//" | C. (24+2V3)r ¥y
,B’ (12+6v3)F (24 +6v3)r Bty
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S.ID.4:
32.

8.1C.4:
33.

A large random sample was taken of body temperatures of women at 2 umversny The data from
the sample were normally distributed with a mean body temperature of and a standard
deviation of 0.727°F. Based on this sample, which percentage is th¢'best estimate ite of the
proportion of all women at this university who have a body temperature more than 2 standard
deviations above the mean? 7.
A_030% 2
. 2.28%
J0%
D. 97.72%

q% o

A survey was conducted where Tgh school students were asked the average amount of time
they spent doing housshold chdTes n ong WEEK>1 he data collected resulted in a mean timc of

180.5 minutes with a standard deviation
confidence interval for the mean weekly o

stidenis? f
& 171.5-189.5 B
B. 175-186 . a5/

C,.178.25-182.75
D. 1j79.62-181.38
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